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Dust of Shvee’is - NIYUAR B IPaAN

Overview

X1°2r1 "2 >0 "1 taught in a Xn»12 how detrimental nN°¥°2w W 12X is for a person, for
if he deals in n°vaw Mo, he will eventually need to sell his Pvovn (out of
poverty).

mooIn explains why dealing in n°y°aw M0 is called nN°y°aw 5w Apax.
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The explanation of n°¥°2w Hw npax is that it is a ‘light’ prohibition of n°vaw, for
the main prohibition of nysaw is only working the field, like plowing and

sowing -
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However buying and selling n°v>2w n17°2 is merely only an 7wy, for the 77N

writes 'maR®', for which we derive but not for commerce —

mMdoIN responds to an anticipated question:*
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And it is logical that this punishment of selling his 1"%v%vn is caused by his
dealing in ny>2w M7’0 for it is ‘measure for measure’.

Summary
Doing business with ny 2w m7°5 is only an a Awy (a ‘light” Mo°X [P2XR]), and the

punishment is also in commerce 77772 7212 7772.

Thinking it over
How does (niwa n"72) °"wn deal with mooin question‘?6 What are the relative

advantages of *"w15 and M»doIN?

! We refer to an ancillary or mild prohibition as being merely the pax or dust, compared to the main prohibition.

2 The 770 writes (7,79 {172] X1p°) that ¥ &Y 77w regarding n°y°2w, there is an X2 MO°X for 7Y°M AW

3y, (7m2) RIp7 reads " 02982 037 PRI Naw anom, the Ny aw Mo are to be eaten exclusively but not sold. A
prohibition which is derived from an 7wy (of 7958%) is considered an wy.

* How does 12 know that the punishment of having to sell the 7">u%un is because he was Ny aw M"02 1M1 KW,
perhaps he is punished (only) because he was ¥y w7117 on N°¥"2W.

> The crime was buying and selling [illegally], so the punishment too involves buying and selling.

® See footnote # 4.
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